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Attempt all questions.

alt e gy

SECTION A (WUE )

t (2} Write short notes on any one of the following
(i} Traditional Square

(i) Existential Import (64
faret ven we Afar feogoft fafem

(1) wewaga fre - a@t

(i} aa=@ ae

() Reduce the following into their logical form and
give their converse :

(iy Grrls are hard working.

(1 A few leaders are corrupt. (4)
fmfafiaa @ afda span ¥ uhalte @ gad oftatia
¥q fard

(i) srefradt aRsr A
(i) e 6 I AR




5319 3
2. (a) Test the validity of the following :
frfefea & duw Re kR
AEOQ - [
QAOQ -~ 1l (4.4)
(b) Prove any one of the following :

(i) Major premise must be universal in figure I.-

- (ii) T'wo negative premises give no valid
conelusion, (2)

el ¥ 3 vl o = Re «ika
(i)mmﬁﬁwmqﬁmﬁ%a@ﬁr

(i) 3 e oA w1 N Ju Feed T8
EEaco il

SECTION B (@vs «)

" 3. (a) Use shorter truth-table method to determine the
validity/invalidity of the following :

(p>q) (a>71)
(p-q)v(~p-~q)
/.. p=q (4)

! -l B s Prafofem @ duam Fo R
' fruifta ke
!
(b) If A B are true, X, Y are false and the truth
value of ‘P’ is unknown, then determine the truth

value of the following :
P.T.O.
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afd AL B W B, X, Y FEY 99 P & Wed AW
B A Pl @ g e b

[(A-X)v(YvB) 2 [(P-A)=(13- X} (6}

Using truth-table method to determine the logreal

-

status of the following
Gy M = C-DyL (C- D)= ((Cyv Dy B
PIM V(N N M (N - = N) (1)
Heg-wiooR fifu g Feafafaa 6 e Fifa afaa
YOy DY S 0C D] O DY) - O v DY B
My (N N My s (N N

5. (a) Symbolisc any three of the following propositions

by using quantitiers and propositional constanis,

(1) Human Beines are never perfect. (Hx, Px)

(an A few Trees are Green. (Tx. Gx)
(i) All Apples are sweel. (AX. Sx)
(ivy Reporiers are present (Rx. Px)

(6)

freafafian 3 & fo=dl i =) wRaeY aw afamuras
G gyl # qfiate @t

(i) A4 &30 W uo FE AR (Hx. Px)
(i) ®9 = = = # L)
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(iii) o7 ¥ WS =W T (Ax, Sx)

(iv) e wofeer 31 (Rx, Px)

"(b) (i) Define ~(p>q)>r in stroke function.
OR
(ii) Define (p =~q) in terms of ~* and *°. (4)

(i) %p:q):rﬁ@ﬁwﬁmmﬁl _
(ii) (p=~q) W ‘~ and - ¥ ufonfw AR@

. 6. Construct a formal proof of validity for any one of

the following :

R>o S
~To((UovV)
- Tv(RvU),
~T /.. RvU -
OR
(p2q) (r>9)
pvr /.. (qvs)

rafaRen S ue ot STEIRE WO 9 6 A

(10)

R>S
~ToU>DV)

TV(RVU)

~T /o RvU
P.T.O.
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OR
(prq) (ron)
pvr /oo {gvs)

SECTION C (@vE ¥)

7. (a) What is a fallacy ? What is the difference between
informal and tormal fallacy
OR
What 1s the difference between fatlocy of
refevance and fallacy of ambiguity ? Explam with
the hedp of examples. (3)
(b) Explain any two fallacies of the following -
(1} Complex auestion
(1) False Cause
(Tki) Division
(v} Composition {3.5)
(&) Tem M F ¢ sAvaies o sTeld aFAw ¥ s
B
qt
HEAL AGA AW TR A A4am § Fq s 2
JRFIN #EA @R A

(%}t @ 2 &1 eman R
(i) =m0 w2 (i) fiem ®RwW QA
(i) fadsian 2m {iv) #Qias Aw

(900)* &k



